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Directione ! For the next sixz (08) questions that
follow :

B-MCZ-M-LES

In a state with a population of 7§ 105, 45%
of them know Hindi, 22%% know KEnglish, 18%
know Sanskrit, 12% know Hindi and English,
8% know English and Sanskrit, 10% know
Hindi and Sanskrnt and 5% know all the three

languages.

What is the number of people who do not
know any of the above three languages ?

fa} 3w 107
(b) 4 x 10%
(e) ;_3x'1n'*'

() 4 x 107

What is the number of people wha know
Hindi noly ¥

(a) 21 x 105
by 25 x 10°
() 28 = 108

(d) 2 x 107

What is the number of people who know
Sanskrit only ?

{a) B x 108
th) 46 x 10°
(cy 4x108

(d) Mone of the zhove

4,

(2 - A}

What iz the number of people who know

English only ?

(a] 5 x 10%
(b} 45 % 107
(c] 43x10°

Add Nere of the above

What is the number of people who know
onfly one language ?

{at 8 x 108
(B) 4 10°
() 3x107
() 4 x207

What is the number of people who know
only two languages ?

{a} 11-26 x 107
by 11-25 = 108
() 12 x 10°

() 125 x 105

of the eguation
r-.-.l— = 1 i l 7
-3 x+2 8
{r} 0
(B 1
g} 2
iy 3
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5,
1, TEw IR vl E S oe W o S I O o
D FENTAE 7
{a) 3% 108
{b) ¢ x 10f
() 3x107
d) 4% 107
8.
2, smfFHITT RIS TE=mad?
(a} 21 x 108
(k) 25 x 10%
(c) 28 x 108
(d) 3% 107
8. ¥EF TEpd JOA T @ A aEr A # 7 e
(a) 5x10%
(b) 45 x 10°
(&) 4x108
W g § Yo
BMCZ-MLZS

[ 3 - A

Haw R T oW A S TEm Em E o

{a)

(b}

i

(d)

5 x 10%
45 x 10°
4 x 10f

IS d A B A

3 O oI S AR A & w2 2

{a)

(b}

{c)

(d)

3 x 10°
4 x 108
8 x 107

4 x 107

e 2 WA B S i A S TEn ey v

fa) -

b}
(e}

{d)

(a}
(b}
{e)

(d)

11-25 x 10°
1125 % 108
12 x 10°
125 x 10°

! . ! lygammzo
X482 2 "~

x-—3



8.  Which one of the following isa nuil set |12, Let N be the set of netwral rumbers
and £: N - N be a fanction given by
@) o ' fix) = x + 1 for x & N. Which one of the
.. -
@ 1413 (a) f{is one-omé mnd onio

{h) fis one-one hut nat onto

fe) fis only onto

@y 1 iz neither one-one nar onto

() ixjx*+1=0 xe R

9. T A=i{xy, B=i2 8, €©=13 4, then
, what is the number of elemenis in

Ax{BUCY? 8. I the sam of the moots of a quadratic
' egnation iz 3 and the product is 2, then the
I (a] 2 equation 1s
|
| 2 -
| {h} 4 {aj 2 X+ 8 )]
' () x*-8x+2=0
I ) 6 '
' ) x*+Bx+2=0
(dy 8

B x¥+8x-2=0

10.  What is the value of log, ¥° log, ¥* log, 2% 7

' 14, ¥ o« and i are the rosts of the eguatiom
' (a) 10 % + bx + ¢ = 0, then what is the value of
] Ix—']. + ﬁ"l ?
' h) 20
| {ay ~Dbfe
' (c) 30
‘ b} bje
{d) &0 '
(e} ‘cfb
11. If A is a relation o et R, then which |
LI} n a s B Wil Izd_}l ~ cﬂ]

one of the following is norrect ?

{g‘; BECA 15. | The area of z rectangle whose length is five
more than twice its width is 75 square wnik.
) AR The length is

(a) & unit
(b} 10 unit
fey 15 unit
(d) 20 amt .

e) Ag®RxR

td} R (A% A)

B-MCZ-M-LZ5 ' {4 ~A)
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8. s ddchwos, Rewgwad?
(a} 0}
(b) {4 1]
) 1t}

@ k|x+1=0,x€ R}

9. dA=kxy, B=12,3, C=1{3 4, o
Ax(BUC T3 S T aar g ?

(z) 2

bl 4

10.  log, x° log, velog 2® mam T E ?
(a) 10
(by 20
{e) 30

(d) 60

11, o % wEm R § A a8 o9 &, &

Fratfea s ¥ sR-Mes v € 2

fa) B A
(b} AcR
¢} Ac(RxR)

(d) RL{AxA)

B-MCZ-M-LZS

15— A

12,

13.

14,

15.

o difae 5 N gapisl o wyem & T
o NN, fid=x+1, xe N & {e
RIfmmar g | Fafafes § I o
B2

(a) fubdr iR smEES ¢

b} fuds ¢ feg amews T8

(c) f%aa woes 2

(d} 9 ot vhat AR T & arEs &

e Fdir e Tl 3 o o cenm 3 &
O 28, o 98 S SEem 2

fal 2x*~x+3=0 -

b) xX—3x+2=0

€) X +3x+2=0

) x*+3x-2=0

ot i 2 + bx + ¢ =0 ai‘rﬁﬁaﬁml]'g?h
ol p! wEE TR ?

fa) —hfc
{b) bfe
{©) b
(d) —g/b

() 15 3o
) 20 3@



16. Whatis /i where i=.,-1 equalto?
1-i
(a) *+—
J2
1+i
b)) +t—
J2
1-1
o —
(c) 5
1+
d +—
(d) 5
17. What is the argument of the complex number
(-1-i) where i= -1 ?
5n
(a) T
5n
kY s B0
(b) 7
3n
(C) T
(d) None of the above
18. If 4% - 6.2% + 8 = 0, then the values of x are
(a) 1,2
h) - 1,1
ey, 1,9
d 2,2
B-MCZ-M-LZS

19.

20.

21.

(a)

22,

{6 -A)

A bag contains balls of two colours, 3 black
and 3 white, What is the smallest number of
balls which must be drawn from the bag,
without looking, so that among these there
are two of the same colour ?

(a) 2
(b) 3
fc). 4
(d 5

What is the sum of the coefficients in the
expansion of (1 + x)" ?

(@) - 2"

b 2"-1
(c) 2n—1
d n+1

If P(77, 81) ="x" and C(77, 31) = y, then
which one of the following is correct ?

X=y
(b) 2x=y
(¢) T7x =31y
d x>y

The binary representation of the decimal

number 45 is

(@) 110011
(b) 101010
e 110301
td) 101101



1. Jiwmwe owd e i= -1, aswmd e

(=)

{b}

(e} =*

{d_‘l. t

HEE ST (1 -8 W, SR f -
WO TR 2

IT.

5m
fa) =X
=

5n

—_—

LY S5

30

4

el

ld}

e # 3 28 F

18. TR 4625+ 8=0, AxT T FNE?

@ L2
) 1,1
{c) 1.0

d) 2,2

B-MCZ-M-LZ3

18.

1

21,

22,

E?2 - Aa)

%ﬁiﬁﬁﬁﬁamﬁsﬁiﬂ@fa.a‘r@ﬁaﬁﬁ#wﬁ
&1 7a o ¥ ¥ G i, gvaw fre o § W
Femrand B admTwmemsdary

{a) 2

th) 3

el 4

dy 5

(1 +x)® ¥ yaR # Yot &1 dme o ¢ P
fmy 2"
(h) 21

ey 271

n+l1

(d}

ofx P77, 30 = x dm 77, AL =
Peffaddstsar s a2 2

y, @

=¥
) 2x=v¥
fc} 77« = 31y

(d)

=¥

ORI T 45 B eyt e o 2 2

(@ 11001
{b) 101010
(c) 1101101

{d)y 101101



23. If the roots of a quadratic equation
ax” + bx + ¢ = 0 are o and [, then the
guadratic equation heving roots of and B is
(2) **-ib-Za)x +¢=0
(b} a2%* —(b* - Zacix+e=0
) ax® —h? - Darl® 4+ ¢ =0
(@ a%h®-f - gacix+ =0

24.  If the rovts of the couation 3ax” + Zbx +c= 0
arg in the ratio 2 - 3, then which ene of the
following is correct ?
{a} 8ac = 25h
b} Bac = 9h?
e} 8b% = 9ac
(d}  8b% = Z5ac

25. Two straight line paths are represented by the
equations 2x ~y =2 and - 4x + Zv = 6,
Then the peths will
(s} cross cach other al ome point
(k) nol croes cach olher
{£) cross cach other at iwo points
{d) ecross cach other af infinitely many

poinia

26, For what vaiue of k, the equations 3x —y = B
and 9x - ky = 24 will have infinitely many
sglutions ?
a) 6
b) &
&) 3
dj 1

B-MCZ-M-LZ5 (B ~

2%, emumbers n—-3, 4n— %, 5+ 1 arein

what is the valus of n 7

28,
ome real roct

two real routs

two mamnary roots

four real rools

20. If A and B arc i%wo non-singular square
atrices auch that AB = A, then which one

{ the following is correct

Ia} B is ap identity matrix
by B=aA"!
icy B=Aal

Determinant of B is zeTo

30, | What is the value of the minor of the element

j10 19 2
g in the determinant } 0 13 1§7
J| 9 24 £|
fa) -9
by —7
€y 7
{4y 0



23.

24,

25,

26.

B-MCZ-M-LZS {8 - A

C(e) 8b% = 9ac

afe T aftERor ax® + bx + ¢ = 0% I o 3R
Bl a@ of 3R §° T T BEm eeiERm w7
22

fa) xZ_(p*-2acix+e=0
(b) a®x® - {(b*_—Z2ackx+c=0

(€ a — b —Zackxac =10

() a® _ (% _2acx+2 =0

o FHETOT Sax® + Dox + c= 0T HA A 3
Fqoa & A, O el § § si-w o w8
22

() Bae = 25h

ih) Bac = gh3

(d) 8b% = 25ac

G Ix - vy = 200 —4x .+ 2y = ST D
TE e e Fwa oy

{a) TR O @ fg T
{b} TH-EH DI T B

o) TR A g = FEh
(d) TR B T IS W W W

ks am & e, offowl Sx-y=8
9x — ky = 24 B FHIT D T BT 7

G

fa}) &
fh) &
icy 3

dy 1

27,

28,

29.

30.

A FE n-3, 4n—2, 5n+1 WAAR IS
A Ao TR ?

(a) 1
by 2
ey 3

D 4

x+ 12-1=-0m7%

(2) v el &

(b) & arfe® om &
(¢} @ Hfirpicod o €
(d) uR aRas ger 8

U AR B 2 Fopaoig o 3eE iR # B
sB-A bk iddshama i e

(a) R o groms eE &

() E.:f-‘rl

¢) B=A?

() B RS g &
10 18 2

wRE® | 0 13 1] § 3999 9 & waReE @

4 24 2

T FErE 7

fa) -9
(b} -7
{e) 7

(d) O



31. The roots of the equation
1 t-1 1
t-1 1 I | =0 are
1 1 i-1
{a) 1,2
{b) -1,2
(e 1,-2
(dy -1,-2
m n p
32. 'The valoe of the determinant |p m n
{a) 18 a perfect cube AR
{bl is a perfect sguare
{c} has linear factor
{d} iz zerp
33. The determinant of an orthogonal matnx is
{a] &1
(b} 2
fc} ©
) =2
34. IfDis a determinant of order 3 and D’ ig the
. deierminant obtained by replacing the
elements of D by their cofactors, then which
one of the following is correct ?
(a) T =D2
(b} D' =D?
{y D =3D*
(d D =3D?
B-MCZ-M-LZS

{10 - A

35

il

3.

-

Gnr;sid&r the following statements -

1. A matrix is not a number.

2. Twn determinants of differenlt orders
may have the same value.

Which of the above statements isfare
correct 7
{a) 1 only
(b} 2 only
i) TBoith 1and 2
{dy  Meither 1 nor 2
What ig the value of tan 105% ?
(a) JE +1
N3 -1
V341
th)
1-43
fe) \,.'3_ -1
Ja+l
J3+2
(dl ————
J3 -1
If tanA=x+1 and tan B=x-1, then

¥* tan (A — B) has the value

(g} 1
{b} =x
) 0
(d} 2




e e e U NP TR o, v deta o SR e e Sl e

31,

a2,

. 34,

B-MCZ-M-LZ5

F7

fa) 1,2

) -1,2
(¢} 1,-2
dy =1,-2

uﬁn,aﬁﬁ‘:ﬁa@rﬁmﬁm%mbﬂﬁmﬁ
7% TeErd & sRefild @) 2 ¥ g g
D & @ FeefrRen A A ol oE w8 2 2

(a) D =p?

(b) D =D*

(¢} Iy = 3D%

(d) D = 3D*

{11 - A)

35.

AN
1 ik

s

¥,

feeferias weet of fam #ifa -

1. 3EgE, e T B

awd & | .
T T W A R 2

(a) am 1

(b) &M 2

(e} 13T 2

(d} IALAT2

tan 105° &1 o< A& 7

J3+1

V3 -1

JE+1
1-43

-.\,@_1
J§+1

ﬁ+§

a
@ i,

o tanAe=x+) W tanB=x-1, ™

1x2tan (A-B)®T O T & 7

Clia) 1

by x

{ey 0

ledy 2

3 VIR EL TR ST TR B



B8. What is the value of

(5in? B - cng? @ 4 1) cosec? B 9
fay -8
h 0
iy 1
fdy 2
89, Ifd is the number of degrees contained ih ao
angle, m iz the pumber of minutes and|s is
the mamber of seconds, then the value of
(& - m)/im —d) is
fay 1
(b} &0}
fel 1760 .
d}  Nome of the above
4D, The expressicn SobXteoseex—1 equal
. ol X —oafpse g+ 1
o) Fin x
T l—rpmx
(b 1 —‘m's x
D X
) 1 +Lm~s X
gsinxw
(B S,
l+cosx
1-tan® 2
41, Whatis ~ equel to ?
1+ tgn? o
2
fa) enx.oomsx
thy tan x
L) ain x
(dy cos x
B-MCZ-M-L25 {12 -

4.

43.

44,

¥n any triangle ABC, & = 18, b = 24 and ¢ = 30.
Then what.is sin € equal t5 17

{a} 1/4
(b) 1/3
(@) 1/2
{d) 1
If sin™? [_Ef'__, + ain™! LI 2tan!x,
1+a L+ b2
then x i equal to
a-b
{al ﬂ ab
a~h
b
L 1 ab
2ab
L
gy nREE
1-iap

A man walke 10 w towsrds a lamp post and
notices that the aigie of elevation of the top of
the post increases from 307 to 45° The height
of the lamp poat is

2 Wm

b 583 + 5 m
€] (543 ~8m
@) (1048 + 1 m

The shadow of & tower standing on a level

plane i& fpand to be 50 m longer when the -

Swan's elevation 12 30 than when it iz B0°, Tha
height of the tower is

a' 28 m

(b} 25J% m

() 50m

{d} None of the ahove



38,

Jn

B-MCZ-M-LZS

{sin® 6 — cos* & + 1) cosec” O o AR T 7
fay -2

by O

{e) 1

dy 2

Pt arr ¥ vl o g g, FFel & dmm m
iR BvEf B T 5 D, A (s — m)f(m ~ d) B
A= @ e

() 1
(b) 60
(e) 1/60

(d) mg?ﬁﬁ#raﬂ'gi{?f

iz SOLE TS X — 1 oy TR % 7
cot X — coder X+ 1

ginx

{a)

1—roEx

1-cosx

sinx -

. 1+ cosx
(¢) —or—
. 5l X,

sinx

(d)

] +cosx

1---t.!mEE

2 fuh owuEc g 7

2 X
1+tan 5

Binx . o08 x

(a)

(b} tan x
fc} o sinx

(ed)

CO5 X

43.

45,

{13 - A

42,

fad B ABCH, a =18, b=234
# | sin ¢ Frmn wERE 7

ol ¢ = 30

fa} 1/4
(by 1/3
(c) 1/2
(dy 1
o ginl b 22 | 4 gin-t _?..J?'Q =2 tan~t x,
] Y 1+
N x fosoes e & 7
a-h
@ v
a—-h
b e =
) 1-ah
2ak
(e ik
a+h
d =)
. }. 1-ah

o1 @RE e dm g @ 2R 10 m g6 T I
# 5 3 dm o & BRET @ S R6 @ 30 WA

TR A5° B A & | 3% oW O o S g & 2

(ay 10 m
th) {543 + 5 m
&) (5v3 —3)m

(d} (1043 + 109 m

T W owe fvd M @, g F 300 s o
T B, & 60° FUR W A pr @t e

" 50 m EE AR 2 R W had wn @ e

26 m

2543 m
50 m

o # & B

(a)
(o)
(c)
{d)



46.

47.

d8.

4%,

B-MCZ-M-LZS

The angle of elevation of the top of a tower of
height H from the foot of another tower in the

- same plane is 80° and the angle of elevation of

the top of the second tower from the feat of
the fArst tower is 30°. If h ia the height of the
other tower, then which one of the bllowing is
correct ?

(a}] H=2h

(b} H=+3h

{fcy H=3h

{(d} None of the above

If cosec & + cot & = ¢, then what ia cos ©

equal to 7
e

(&)
2 c2—1

by —°
s |

e2 -1

{e}
ety

(d) None of the above

If sin ﬁ-+ Zeoe 8 =1, then what is
28in8—cos0 equal to ?

{a) 0

(b 1

() 2

(d} 4

If A+ B =90° then what is
Vein A sec B — sin Acos B equal to ?

{a} sin A

b) cos A

2] tan A
(d} 0

61,

52,

53.

{14 - A)

What ie tan® A — sec? A + tan® A + sec? A

| equal teo ?
(a} O
by 1
{c) 2
dy -1

Which onie of the following points lies inside a
circle of radiua 6 and centre at (3, 5} ?

fa) (-2 -1]
by (0, 1)

ey (=1,-2)
{d) (2, -1

What is the equation of a straight line which
parses through (3, 4) and the sum of whose x
and y intercepts is 14 ?

(@) 4dx+ 3y =24
(b)) x+y=14
ey 4w -3y =0

(d) 3x + 4y =25

The equation of the ellipse whase vertices are
at (x 5, 0) and foci at (+ 4, 0) is

(a) z‘—:-r-%:l
SO SN S
o 25
(el §+-£=1
{d) §+§=l




47.

48,

48,

B-MCZ-M-LZS

H % o 5 =R & RBeR @, 3 90 W 0F
g dFR & w2 IS O 60, SR
AR & B & ¥ AR 5 R W a1 =@
Ior 30° 2 1 Rt 0 e & Pl h AL A
Priffsg A da s T e ?

{a}
{b}

H=2%h
H=.3h
H=3h

e § % 2% A

(e
(d)

T cosec 6 + cot 8 = ¢, T cos 6 UG A @ P

C

(a) Ty

c

1)) .
22 + I

cz-l

a::2+1

W A A

{c) -

(d)

g2 gin® +2cosB=1 & Z2sin0—cosh
s IR T 7 '

{a)
(b
{c)
(d)

A= 2 = O

ae A+B=90°, a9 ,
Jsin A secB — sin Acos B fHa® a2 7

{a} sm A
{h)
{c)

@ 0

g A

tan A

50.

51.

a2.

33

{15 - A}

| (b}

ARL)

| (&)

tan®* A — sec* A + tan® A + sec? A

27

() @
by 1
(e} 2

{4y -1

froe 6 w 3% (3, 5) 96 qF ¥ A Bt
i f v o e Ry faad ?

fad -2, -1
{0, 1)

(@) (=1,-2)

{6y 12 -1

TRy TR T, 3 (3, 4) ¥ ERAl 8w s x
74 v Sz @ amBe 14 21, FteRer a3 7
fa) 4x + 3v =24
ey =14
fe) 4x—3y=0

{d) 3x+4y=25

(+ 5, 0) W ¥ oF (& 4, 0) T A EeEE
TRl F § 2

+

(bl

+
B9 Bl o

(c}

[ Ei”m ‘-ﬂlmu g[”u

[¥

) =—+

|
i
Jeie




B9,

The point whose abscissa is egual to its
ordinate and which is equidistant from

Af(=1, O) and B(D, 5) is

fa} (1, D

(by (2, &}

(cy (-2 -2)

{dy (3,8

The difference of focal distances of any point
an & hyperhols is equal to

() latus rectum
b)) semitremsverse miis
fe) tranasverse axis

1}

semi-latus rectum

What is the area of the {riangle whoase
vertices ars (3, 0), (0, 4) and (3, 43 7

{a) © sgoare unit
(b} 75 square unit
i) % egquare unit

(d) 12 squate unit

A straight line passes through the points
5,00 and (0,8, The length of the
perpendicular from the point (4, 4} on the line
is : :
w

2

17
h st
{b} )

15

17

4 =

(d) 5
B~MGZ-M~LES.

60,

{ 16 - A

What js the inclination of the
Jizx~y-1=07?

Yine

(2) 30°
{b) &0°
{c}  135°
(dy  18¢°

What is the angle between the planes
Qe —v—2241=0 pnd 3x—dy + 52 -8=017

(a) Eﬁ
(b E
(e} g
() g
If the straight live x_:” = lr-:m—y-@- = .z_':;zﬂ,

is parallel to the plane ax + by + cz + d = 0,

khem woich one of the following s correct ?

fa} f+m+n=10

a+b+re=0

ity

@ el it
i m n

(d} sl +bm+en=0



a4,

54,

o6,

L

B-MCZ-M-L25

ey

e firg, Roree 31 Tads Ift & e & sk S &
it AC-1, 0) 3R B0, 5) / TEH T/ W R,
@aEr e ?

fa) (1, 1}
thy (2, 2)
e) (=2,-2)

(d) (3, 3}

Tl sfmRag W Rem 5 o & i
o HeR foad sUa | 7

i &
Hel-3rn He &
(s} FI N
e-fieTe &

(R}

(b)

()

(3, 0, 10, 4) A (3, 4) st IOr Py & AT
TE? K

{a} &an e
(by T-& % o@E
& vaizE
dy 12 o 3R
B T T feged (5, 0) I (0, 3) F e € |

fag (4, 4) & 39 TR 50 U 7 BT oward w9
7

(a)

{b)

5] L -
Sl RN

(d)

(17 - A}

aB.

6.

¥ fBx-y~1=0 B omfi e d 7
{a} 350°
) 60
{e) 135°

(d)  150°

O 2% -y -2z +1=0HR Ix -4y + 52~ 3 =0
FiamrevaEne ?

{a)

SifA

(b

W | H

(el

eafH

(d}

LA

o wE e =¥ I
{ m n

Tl ax + by + ¢z + d = 0 & 9AFGR &, 4
Prafafea 4 A v w s w2

(a)

f+m+n=10

a+b+¢:ﬂ

{b)

E+£+—E-=D

f
) {f m

) al+bm+en=10




61.  The sum of the direction vosines of z-axis is_
(al 0
(k) 1/3
e} 1
d) 3

62. What is the area of the triangle whose vertices
are (0,0,0),(1,2 3 and (-8, -2 1)?
(a) 345 square unit
(b) 6v5 square unit
(el 6 square unit
(d) 12 square unit

63. What is the diastance between the planes
X—2 +z=-1=0 and -3x+6y-8z+2=07
{a) 3 unit
(b} 1 anit
] 0
(d) None of the above

64, If a ling makes 30° with the positive direction
of X-axis, angle P with the positive direction of
y-axis and angle y with the positive direction
of z-axis, then whatis cos® B + cos® y equal
to ?
{a) 1/4
by 1/2
(el 3/4
) 1

B-MCZ-M-L75

.

64,

67,

(18 — 4 |

What shounld be the value of k for which the
gualion gx% 4 3y° + (k + l}zg-r-x—y-l-z:ﬂ
represenls the sphere ?

{(a} 3
by 2
(c; 1
(d} =1

Consider the following stalements in vespect
of & function fx) .

1. Rx} is continuous at x = a iff lim fx)
f K=
exists,

2. If fix) is continuous at a point, then

1
—— is also continunua at that point,
=

Which of
eorrect ?

the ahove statemenls isfare

{a} 1 only

{b} 2 only

{c} Both 1 and 2

fd} Neither 1 nor 2
I o’ —lsyg =7, what is :—i equanl to {y = 0) ¥
() ’2‘2
(b) é"i
(e K—E
¥

E.C'U None of the above



G1.

62,

B3.

64,

B-MCZ-M-LZS

z-ﬁﬁﬁ%ﬁ@aﬁmﬁaﬁdﬂmm%?

-fay &

(b} 1/3

3 1
(dy 3

(0,0, 0, {1, 2, 3) 3 {- 3, — 2, 1) #indl amt Fingw
&1 HT6e aaT & ?

(a} 345 o g

(by &5 = 3@

(©) & 3o

@ 1271 3@

Hueell x—2y+z2—1=0 3K
—3x+By—32+2=0 $é’ra$fﬁ[m§?

(a) 335
() 135%
(e} ©

(@) IGE ¥

ot =% @ x-ya - o R A 50°, voiE
o oers T & p ARz B aeree R A
yEOTETA R, A cos? P+ cos?y FEUE AT
22

(a) 1/4
(b} 172
icy 3/4

dr 1

85,

67.

(19 - A

k & | w9 & fow i
3t + 37 + ks D)zl e x—ysz2=0
e Forsfta @ 2
{ary 3
{hy 2
{e] 1

(dy -1

%o fix) & @ 1 el & e ® e

it - :

1. x=a ' fix) §99 ¢ afc 3k Faa o
im fix) @ s 8 |

i

2. e fRl B W fx) daa & @ 39 g
%ﬁm’m?l

e wel F & sh-mA w2

(a) & 1

(b) el 2

(e 13 224

(dy TAr1, T2

uls 2x*—3y? =7, w4 % fous W 2
(y=0}7?
x}!

[a) o7

x
[ L
(k) 2y
2
{c} EE.-.
¥

(dy I9g® 0| @ 7



88. Thederivativeof |x|atx =10
{a} 181
by iz —1
{c}y 130
(dy does not exist
x*  x>2
63,  Consider the function fix) = ;
3x-2, x=2
Which ome of the following statements is
correct in respect of the above funetion 7
{a) fix} is derivable but net contipueus at
X =2
{b)  flx) i3 continuouns but not derivable at
k=92
(e} fx) is neither coniinuous nor derivable
al x =2
(d) %)} is coniinuous as well az derivable at
=
T0.  Comsider the following statements :
. R | .
1. im &in — does not exist.
x40 b4
) R T
2, bm x=n — exists
o) b4
Which of the sbove siatements isfare
correst. ¥
(a) 1 only
(b) 2 only
(¢} Both 1 and 2
{d) Neither 1 nor 2
B-ACZ-M-LZ5 i 20 -

714

Vd

73

4.

A

in % — ta )
= Anx equal to ?

What is lim
ta) 0 o
{b} .1
el -1
(dy 1/2
What is Iliinﬂ 1-Jiex equal to 7
fa) 172
(b} -—1/2
e} 1
fd}y -1
: - 3
If y=gm({ax +b), then whatis —% at
. dx®
X=— 3 where a, b are conatants and 2 =07
(a) 0
thy -1
€y sin{a—b)
{(dy sin(e + b}

What iz the range of the function

=]

fixy=—,x=07
X
fa] Set of all real numbers
(). Set of all intcgers
fey  }-1, 3}
(d} {-1,0, 1

If y=x", whatis ;1_3' at x =1 equal to?

X
(&) 0O

(b} 1

L —

(d) 2



69,

T0.

B-MCZ-M-LZ25

x = 0 R | x| & HadeA
12

-1%

0#

o1 it e #

(ah
(k)
(c)
(d)

x”, >3

™ faar @ |

x=2

T ﬂ:ﬁ.:‘ -
3 =%,

T w % w4 el weE ¥ ¥
- v Wl #

(a) 2 =2 U fix) Iamemg # g Waa =@ 8
(b) x =2 W fix)¥a & Ry saderra 78 ¢

x = 20 flx) 7 @t woa ¥ otk A & s
4

fe)

x = 2R fix} 997 3R am & 9w sEse
[

(d)

friafas o R iR fifow
1. lim sin L o o 4 e

=0 X
2. lim x sin = o s ¥ |
o X

Iwes wol § F By T A 2
{a) e 1
el 2
1 3R 2 2t

TALTE2

i)

{c)

iy

[ 21 - A}

71,

72.

T3

74,

7o,

—

o

=t

{

w0 X

W

lim SRX-YRE Crrs w2 2

| x

(g1 - 0
'Z.b} d.
(¢}
(d)

2
1/2

lim

fras s & 2

al 1 f‘&
bl —1/2
gl

1) =1

ﬂ%y=sin[ax+h],3|ﬁ%aﬁﬁ?b3ﬁ?gﬂﬁ'

£
a#ﬂ,ﬂ'a’_:{:r—kq?d—”;%ﬁ?ﬂ%?

a dx

a0
b} -1 -
) sin(a — b

d] siniz + b

T f{xj:m,xiﬂ FT ORI FME P
=

h) W greE Tl & W

by ol quitet @ e
=1,

{

2

dy -1, 0, 1]

e v=x* & @ x=1 ﬂj—i%ﬂ%‘w%?
a) 0
by 1
el =1
d: 2




76. The function fx) = xf
minimum value at
(a) x=20
':]3} i=1
¢ x=2
fd) x=4
77.
to
@ -
e
By =
e} -@
) e
78. Consider the following
1.  The derivative
' attaing maxima
EBT.
a If a. function is d
point.
Which of the above sty
{a) 1 only
(hy 2 only
) DBoth 1 and 2
(d} Neither 1 nor 2
B-MCZ-M-LZ8

—dy, x £ [0, 4] attains

The curve y = xe* has minimum value equal

staterients :

where the function
or minima muat be

ifferentiable at a point,

then it must be continuous at thut

tements isfare correcl 7

7.

8,

B1.

(22 - A

What is the differential coefficient of log, x 7

ay 0
fhy 1
(e 2
%
(d} x

a

What is . de equal to 7
i+ 4

i}
n
EEI-} E
m I
) 4
P18
{c) E

Nene of the above

E
What ia foa-fsinx}dx egual to "7

-a
(2] a

(b} 2a

ey 0

idy 1



76. oA fix) = x° - 4x, xe[{] 4]%5?11"{:‘!;3“9 ’i’ﬁ. .logxxﬁiraﬁaiﬁﬂmiﬁiﬂ??
T W e B P
ia) O
(8} =0
by 1
k) x=1
(e} i
c] =2
{dy x
d z=4
77. TB y=xe* B gIgn O fa@ FEEE? 3| 2
| 80, I—gd—x--ﬁm%w%?
1 w4 d
{a) - — 0
L+
1 ' " R
(b} E . . ‘ (a] 2
) —-e .
{h} n
(dy e
{¢) g
78. F=feRem wyHl o fGaw &G - _
1. SE W Bre AbEaA ar LR g g - (dy wge ¥ ¥ T T
R FOEOA I T AR :
2. e B fig W o oem sEweel R, 4
o frg ® @ To9 & & T | : a
- | 81, I[x3+sinx)dxﬁﬁ‘lﬁ5mﬁ.?
r :
I FeFT F F S A 1. -
IE " f{my w1 P 1 fa) a
1 (b} a2 - (b} 2a
@ 12k 2 fey €
5 k
t dy T 1L,ISTE dy 1

B-MCZ-M-LZS {23]- A




82, Whatis Jxe"‘ dz  eqas)io?

0
fay 1

b) -1
i 0

(@ e

$3, What is femx dx equal to ?

Inx

{a} =" ¥ig

&l =+e
'

@ = +c
Z

where ¢ is the conatant of integration.

e
]
84. What ie Jﬂm = cox? X dx equal to ?
A ;
5

T

. fa) >

b X

(&) .

i

ie} -E“

dr 0
B-MCZ-M-L23

RS,

87,

{ 24 -

A )

Whatie [—2 coqnal to?

xinx

fa}) Imtdnx)+e

(b) Inx=+c

(€ UnxF+e

(d) Naone of the above

where ¢ is the comatant of integration,

What is the area of the region enclosed by
y=2]|x|landy=47

{a} 2 sguare unit

{h} 4 sguare nnit

fel 8 sguare unit

fd) 18 square unit

. What iz the area of the parabola ¥ = x
" bounded by its latus rectum ?

(a) ~ squars unit
12 E
L .
(b} 5 sduare unit

(] % sguarc unit

{d1 Mone of the above

o oam



{a} 1
B =1
fey O

(d) e

83, Je””‘ dx Rems v d 7

inwu

fa) xe™* + o

th} —xe™¥ 4 ¢

T
B
84, jwdx fsee a0aT 2 »

(b3

ey

iR d oA

(d)

L

B-MCZ-M-LZS

@ ks ¥ ¥ oS 3

{26 - A}

I 9 e s E 7
xinx

fal fnlinxl+g

bl Inxasc

@ n 2%+ ¢

(d) I R ¥ B T

Wl ¢ WA SR ¥

y=2 x| dRy < 4 g flEg dn o dEwn
foreri & 2

(e} 2 @8 350%
{b) 47 gp7E
{c}. 8.9 FmE
() 16 o T

Wt Al & oRes WEET v = x B Aa
i e

1
(a_;n = an o

) ¢ o g

(e} —%'aﬁ‘ﬁfé



88. The

89. The differential equation of the gurve y = sin X
ie
d’y _dy
(&) EF +y Y + x=0
2
® SL4ye0
dzj.l'
@ w0
2
(d) d—'g +x=0
dx
90, The degree and order respectively of the
tifferential equation dy = 1
;+y+1
fa) 1,1
(b) 1,2
(e 2,1
) 2,2
B-MCZ-M-L2Z5 {26 4

. (d)

derivative. of sec®*x with respect ta
tan® x is

fa) 1

by 2
fe) 2 sec xtan x

2 sec? x tan x

1.

92.

A}

The general

What ie the degree of the differential equation
p :
4.5 3 2
[d-"] <L g2 T gm0

axt) e T Tax

.{a} 6

(b) 4
e 8

(d) 2

solution of the differential

; dy ;
equati == = 0
q o7 e + ¥ 18

(2l

Yy ==

where ¢ iz dan arbitrary constant,

What iz the area of the tviangle bovnded by
the gides x =0, v =0 and x+y =29

{a) 1 sguare unit
{b) 2 aquate unit
{c) 4 spguare unit
(d) 8 square unit



B8, tan®x & WY sec’ x o MPGOA T E P 91, | Habe THT

- . :

. fa) 1 | (aty)s - _ady _q® d
| [E]'ﬁaﬁ%ﬁ—i*“”
by 2 '

| s

| fel 2 sec xtan x

| (a) &

(d) 2 sec? x tan x
b} 4
|
(e} 3
89, UWH y=sinx O T GAEROT &/ P Q2
(

|

| 'I'JI.E'F El/z

i, (a) E*’j"dx+x=ﬂ" 92. | Hada WK% +y =0 B FTNGH T T

i # 7

. 2
(b} d—§+y=ﬂ

dx (a}) xy=¢

' 2 . by x=cy
(¢} If.i._-';dj@ﬂ .

| dx ) T+v=0¢

| 2 | (dd Xz+y2‘_—¢ '

Ed} H*{*X:ﬂ -
dxﬂ
ﬁﬁnﬁ‘fﬁ@fﬁmﬁl
90, maﬂm%-ﬁ&maﬂfa‘ﬁa&. g x=0, y=0 3R x+y=2 A oREg
e am § 2 s &2
@ 11 _ | @ 1ai 3@
By 12 | by 2t gEd
@ 2,1 - (@ 47 5o

B-MC2-M-L25 . [ 27 — A}




94. The general sclutien of the differential
dy
ti n| — =0 i
equation n[dx] +x is
{a) y=¢%+¢
b) y=—e™+¢
e) y=e"+¢ :
d y=—-e*+¢
where ¢ 18 an arbitrary constant,
—> . — —
95. If § is perpendicular to both o and ¥
-3 M — . A A n
where e =k and vy = 21 + 3j + 4k, then
N .
what is p equal to ?
n A
(a) 31 +2)
~ A
(b} —3i +gj
A A
(@ 2i —-3j
* fu
d}y -2i +3j
B-MCZ-M-LZS

96,

BE.,

(28 -~ Ay

1 the magmitude of ..a} * b

i

For any vector @ . what is

— hAoA —% A

L — A oA
foe LiM +(e )] +(e -k)k equalto?

._?
la) o
b} 3o _
_':,
ey — o
—.
(d} 0

%
equals to
by .
a .b , then which one of the fbollowing is
rorrect ?

—5 =¥
‘a} a =bh

: > -3
h} The angle balween z and b is 45°

— —
(e) a2 iz parailel 1o b

-

%
{d} a is perpendicular to b

T 12 1=42, 15 |=+3 and

| +b | =B, then whatis | & — b |
gqual to ?
fa) 1
b 2
el 3
Cqdy A4




94, HEHH B Eﬂ[j—}r]+x=ﬂ W7 TR T
X

(d) y=

—e*+c

Eﬁc@?}ﬁwmﬁl

9. R o R Y AR BogEE A I o

_1', LY I8 .Y _:"
3Ry = 20 +3j +4k, @ B oubamd e

L) A

(a} 3i +2j

A

thy - 31 +2j

(e)  2i -3j

Ll "

(d) = Zi +3j

B-MCZ-M-LZ5

A
=k

i 26 - 4

" B

A}

b wfeer o % R,

— A A
(e 43 + (e

g7

}.ﬁlﬂﬁa—aﬁw

[N .
SHIEXL

i

fa)

a2 x b & GRAE A b ¥ s @ A
Eretirfiag # ¥ o wn T #

@ @=b

b 2 Kb A @ B 4
8, b e d

S Sp——
W2 =2, |b =48 3k
R

|3 +b | =6 |3 —b | T s
g2

(ay 1
by 2
el 3

() 4



89. Which ons of the following vectors is normal |10%.
F. . A
tothe vector i + ] + k7
A ~ M
@y 1+j-k
A .4 M
b i—-j+k
A N M
fed i-j-k
{d} Nome of the above
. : & a_|108.
100. If @ is the angle between the vectors 4{i — k
[, A A
and i + j + k&, then what is (gin 6 + cos )
equal to ?
{a) ©
1
W =
(b) 2
© 1 1o4.
(dy 2
101. The average marks obtained by the
studente in a class are 43. If the average
" marks obtained by 25 boys are 40 and the
average marks obtained by the girl studenis
are 48, then what is the mumber of girl
students in the class ? 105.
() 15
by 17
{cy 18
& 20
B-MCZ-M-LZ5S { 30 - L J

Marks obtained by 7 sludents inp a subject
are 30, 55 75, 90, 50, 60, 39, The number
of sludents securing marks less than the
mean marks is

(al 7
(b} &
(e} &
fd} 4

Variance 15 always independent of the

change of

(a) origin but not seale

{b} seale only
fe)  both origin and scalc
fd} None of the above

If two lines of regression are perpendieutar,
then the correlation coefficient r is

(a)
{b}

S ol W

(c)

(d) Mome of the above

The etandard deviation of the pbservations
5,5 5, 8 5 is

() D
thl 5
{e) 20
(d) 25



Freffes aRet 4 ¥ S os, ¥R 1 4 Jle &

a9,
¥ 3fimad e
T A A A
fa) i+3-k
.Y i My
B i-j+k
F. A n
¢) 1i—-j—-k
@ T E X
F A A A - oa :-
100. af€ wiw 4 ~ O 1+ + k A
ﬂ%’ﬂﬂ?‘i.?ﬁisinﬂ+cosﬂ)?ﬁﬂ$m%?
(5) 0
§
(h} 2
{e; 1
d} 2
1. edr sar 4 Rrnfirl! ot sffeg wmars 43 2 1 ok,
25 e o Aty AT 40 A w=EE @ e
TS 48 &1, O wen W mefod o e aar & ?
fa) 15
th) 17
(e} 18
d 20
B-MCZ-M-LZS

pLIAN

163.

|1 104,

LU

"l fawy % 7 fenfidi R a3 30, 55, 75.
90, 50, 60, 39 & | 0& B & Tem For &
s Tam T U SR 2

fay 7

) 6

fe) &

@d) 4

TET Tan

nafeg B T ¥ i AT W b
ok & e < A

S B % R 2 ey A 2

(a)

{b)

@ TR o Sm 2 ¥ Reds % el

Sl :
39es § & B

uﬁawwmﬁﬁaﬁ?hmw
riEArd 2 '

(d}

@ 0
@ I § A = ol

Y& 6, 5, 5, 5, 5 W Tage g § ?

fa)- 0.

o

(b)
()

hB

(d}



106.

107.

1']’8" I

The markes obtained by 13 students in a
test are 10, 3, 10, 12, 8, 7, 9, 6, 7, 10, &, 6,
7. The median of this data is

[a}y 7
(b} 8
ey 9
(dy 10

Cansider the following statements -

1. Bopth variance and standard deviation
are measures of wvariability in the
population.

2.  Standard deviation is the square of the
VArlance.

Which of

correcl ?

the zbove siatements s/are

(). 1 ounly
(bYy 2 only
el Both i and 2

id) Meither 1 nor 2

The harmoni¢ mean H of two numbers is 4
and the arithmetic mean A and gesmetric
mean G satisfy the equation 2A + G? = 27,
The two numbers are

(a) 6,3
(b} 2,5
{ev 12,7
id} 3,1
B-MC2Z-M-LZS

108,

110.

112,

[ 32 - A )

Conzider the following frequency distribution :

1
Cless interval | 0-10|10-20| 20-30 | 30-40] 40-50

Frequency 14 | x 27 v 15

111,

If the total of the Irequencies g 100 and
mode is 25, then which one of the following
is correet ¥

(a) % =2y
(bl Zx =¥
el w=%

(d) x =3y

In how many ways can the Jetters of the
word  ‘GLOOMY be arranged ao thal the
two (s should net be together 7

(a) 240
(hy 480
() 600
dy 720

Consider a random experiment of ihrowing
together a die and two coins. The associated
sample space has

iz} 8 points

{b} 12 points
{fc) 24 peints
(d) 36 peints

In throwing € six faced dic, let A be the
event that 2n even number gegurs, B be

the event that an odd number pecurs and C

be the eveni thal a vorber greater than
3 peeurs. Which one of the following is
correct 7

¥a) A and C are mutually exclusive
(b1 A snd B are muteally exclugive
e} B and C are mutnally exclusive

[d) A, B and C are mufually exclusive




106, i vhemr & 13 faenfieh gm0 wne @i 10, 3, m,[p&.ﬁmﬁﬁaam‘am—aﬁw%m%:
12, 9,7,9,6, 7, 10,8, 6,7 ¥ | 39 zg o Aneat

Fmd e T =R |0-10|10-20 | 20-30| 30-40|40-50
FRERA 4] x | 21| y | 15
{a) 7
afe RGN & AMBH 100 & 3R ages 25 3, A
(by 8 fafEr i sm o adi d ¢ .
© 9 () =x =2y
(b} 2x=y
(d) 10 : © x=y
(dy x=3y

107. FefifEn aeEt o faw s -

_ 110. ¥=X ‘GLOOMY' & 1 ot Tt avw ¥ wahes
1. WM g AFe ﬁﬂﬁ:r.‘c‘ﬁi. Ty Wl frmmmwEm A oarar AP

gRacma & A ¢ |

{a) 240
2, ARG AT TERmM O A # | (b) 480

{c) 600
Tugjes el A ¥ St vl 22 2 | @ 720
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); agfens o W R S | Tag vived
(h) a2 #ida frg e e _
. 2y 8RN
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113. What is the probability of getting a sum of [117. A fair coin iz toesed vepestedly. The

7 with two dice ? probability of geiting & result in the fifth
toss different from those obtained in the

{a} 1/6 firat four tosees ia

by 13 {a) 1f2

e 112 by 1732

(d} 5;’35 ey 332

(&) 1718

114, Four coins are fossed simultaneously.
What is the probability of pgetting exactly

2 heads 7 J18. If X follows a binomial distribution with
(a) 1/2 parsmeters n = 100 and p = 1/3, ihen
PiX = 1 i maximum when
by 1/4
{fa) r=14
@ 178 ®) r=32
@ 38 | () r=232
(d} r=34

115. A bag econtzins 5 black and 3 white balls,
Two balls are drawn at random one after
the other without replacement. What ie the

. probebility that both are white ? the set U = {1, 2, 8, 4, 5, 6, 7, B, the
second being drawn without replacing the

Jopl.

(19, Two numbers are sunccessively drawn from

@) 1/28 first. The oumber of clemenisry evenls in
{b} 1;!14 the sample ie : ’
_' c) 3/28 (2) &4
(d) None of the above (b) 36
(c) 32
I16. If A and B gre any two evenis such that (d} 14
P{A) = 0-4, P(B) = 0-3, P{A U B} = 09, then |
what is the value of (A U B) eqnal to ? l|20 The binemial distribution has
(g) 02 (a} omly one parameter
(b} OB (k) two parameters
¢} 086 {c) three parameters
(d)y ©7 {4} four parameters
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115, 2 yRl 9 7 & DR W Wy )

114.

115,

116, gR AR BB Al mwRER
P(A) =04, P(B)= 03, PLAU B) =29, aF |y20
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by 1/3

(e 1/8

a) 1/6

ey 1/12

) 536

R oy v 9 o o § | ﬁaﬁﬂl‘lﬁﬁﬁéﬂﬁ

o mitepaT gm & 2
(a) 1/2

by 1/4

(d)  3/8

et g § 5 @ sk 3 W R
vicrntug fse anghos w1 ¥ A R e
g7

(a) 1/28

by 1714

e} 3728

(d) 3w § 8 P e

PIAUB) A I g ?

(a) 02
by 05
ey 0B
d) 07

sl 0
Pl wel & 1 2 5 4k 29 & wiiss =

Fe 7 |117.

118,

£ 1 B9

i 35 - A}

PiE e Fomor aear 3@ s & | oed soe
& AT SR §Y AR 30T ¥ 9 R 4§ G
IS e T d 2 '

(a} 12

) 1/32

(e} 31/32

d) 1/16

Xy n=10FRp=1W e T
IO T, W P = 1), r%ﬁﬁﬂﬁ&sﬁm
Witrras g 2

fa) r=16

b} r=32

| el ©=283

() r=234

. R U= 11,23, 4,5 67 3 33 Tl

FRIR, @ﬂmﬁﬁwﬁﬁmm
X3 g8, o s £ | ofoeet # arfivs genat
&t gEm F E 7

=) o4
oy 58
icy 33

d) 14

. B d

fa) ihdd P& WM &
(h) 2 oA E
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